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asym_bcm_an_ds (ppb) 1D pull distribution
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asym_bcm_an_ds3 (ppb) 1D pull distribution
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asym_bcm_dg_us (ppb) 1D pull distribution
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1D pull distribution
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diff_bpmE RMS (um)
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution

0.01692 + 0.1458

Mean

1.041+0.1031

Std Dev

Underflow

Overflow

7.86/6

X2/ ndf

7.94+ 153

Constant

-0.1056 + 0.2519

Mean

1.288 + 0.223

Sigma

55.28 /50

2.408

X2 / ndf

6.846

+

pO

diff_bpm11X (nm)

e e e e e r g

o
7

-100

Olllll




diff_bpm11X RMS (um)

(wn) SNY

/oY e I I I e e B

V'v8SYy
€'v8Sy
¢'v8sy
T'v8SYy
0'¥8SYy
'€8SY
£'e8SY
2'e8SYy
T'e8sy
0'€8SYy
2'e8sy
T'essy
0'¢8sYy
7’185y
€185y
2’185y
11857
0'18SY
¥'08SY
€085y
2’085y
T'08SY
0085y
V'6LSY
€'6.SY
2'6.SY
T'6.SY
0'6.SY
'8LSY
€8Sy
2'8LSY
Re7Ac14
0'8.Sy
V'LLSY
[WNAS| 4
¢'LLSY
TLLSY
(WS4
2’95y
T'9.SY
0'9.Gy
¢'SLSY
T'S.SY
0'9.Sy
€¢LSY
2elLsy
T'elSy
0'¢LSy
C'TLSY
TT.SY
0'TLSY



1D pull distribution

@ g o o © 0 2 ©
8 8 2 < 3 8
S S > 2 4
3 S @ + 3 3
S S © ~ g oS
+ + g S 3 +
o © = ©
& 3 H b=
S = 2 8
s 3 3

4

S

S

=3

S

H =
> e H - =4

g b4 o k< g ©
s o k) T < 17 c £

g g 3 = 2 &
g = 2 g 3 5 8 S
= [ =) o > o = »

|

52.72 150

X2 / ndf

502

0III|III|

diff_bpm12X (nm)




diff_bpm12X RMS (um)

(wn) SNY

V'v8SYy
€'v8Sy
¢'v8sy
T'v8SYy
0'¥8SYy
'€8SY
£'e8SY
2'e8SYy
T'e8sy
0'€8SYy
2'e8sy
T'essy
0'¢8sYy
7’185y
€185y
2’185y
11857
0'18SY
¥'08SY
€085y
2’085y
T'08SY
0085y
V'6LSY
€'6.SY
2'6.SY
T'6.SY
0'6.SY
'8LSY
€8Sy
2'8LSY
Re7Ac14
0'8.Sy
V'LLSY
[WNAS| 4
¢'LLSY
TLLSY
(WS4
2’95y
T'9.SY
0'9.Gy
¢'SLSY
T'S.SY
0'9.Sy
€¢LSY
2elLsy
T'elSy
0'¢LSy
C'TLSY
TT.SY
0'TLSY



2 Py e ° 2 8 R &
S S 2 NI b=
s S & H o o
+ H ~ 8+ + 7]
< S N @ @m =
g & S § g E
o - c o -
m W -1
s & 3 _ E -
s T o 5 3 ©
MDennmmm
c 3} o B g = 5 5] 1=
|l & 5 &8 % 48 = &
=
5 ]
b =
= m
= ]
R ]
k=] [ . ]
= -
o —1
o
i
P PRI T ISR NS S S NI S S SR S NS T BRI
< N o © © < o~ =)
- — =1
o
O
-~ O
< ™~
AN H
o <l
N~
(92]
Y—
©
c
~
N O
< Q]
~_
Qo
Q.
o
N—r
w
>
m_
>
)]
@©

20000
10000
-10000
—-20000




asym_usl RMS (ppm)
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